FgArea: ['W4' ]
NC11 EQ4
2025-05-26 (Day 3)
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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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EQ4AW

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERR

07:15 60 30.0 R5| TiHAe07:15 KRHIERF (RAEHS)
08:15 60 30.0 Be| ThHHe08:15 RHEFEF (KFAEZRE)
09:40 60 30.0 Bg| TMHA@09:40 KRENFEF (KRAIEEES)
10:45 60 30.0 R5| TiHAe10:45 KRHIERF (RAEHS)
11:45 60 30.0 Be| ThHje11:45 REEF (KAERE)
12:40 60 30.0 Ag| THR@12:40 KENFEF (RAEEES)
13:40 60 30.0 R5| TiHAe13:40 KRHIEF (RAEHS)
14:45 60 30.0 Be| ThiHfe14:45 REEF (KBAERE)
15:55 60 30.0 Ag| TnHAe15:55 KENFEF (KRAEREES)
=3+ 540.0 (9%) 270.0 B UGHKEC: 1200.0, PH: 6.5
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FRV (ml plant-1)

EQ4AW_W4, Day=3 (2025-05-26)
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EQ4AW

BYIE) | BRI (F)) | s (EA/#R) | XS SRR

08:35 60 30.0 Be| 1Ri%@08:35 REFEF (KFEZRE)
09:35 60 30.0 Bg| 1RiZ@09:35 KENFERF (RFfERER)
10:55 60 30.0 B5| 1Ri%@10:55 KRHFEF (RAEHS)
12:00 60 30.0 Be| Ri%@12:00 REFEF (KBAEZRE)
12:55 60 30.0 Bg| 1RiZ@12:55 KRENFERF (RA1EREE)
13:55 60 30.0 B5| {Ri%013:55 KENFEF (RFA1EREE)
15:00 60 30.0 BE| 1BRi%@15:00 REEF (KAEZRE)
16:10 60 30.0 fg| 1RiZ016:10 KRENFESF (RATERSE)
Z3t| 480.0 (8%) 240.0 B UHKEC: 1200.0, PH: 6.5

large discrepency for begining water status (22:282.0), set to 22 ml.
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EQ4AW W4, Day=2 (2025-05-25)
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FRV (ml plant-1)

EQ4AW W4, Day=1 (2025-05-24)
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